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Section A

1. Find the equation of straight line passing through the

point (5,4) and parallel to the line .

Watch Video Solution

2x + 3y + 7 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yjuxzDIISIsX


2. Find the value of p, if straight line

 are concurrent.

Watch Video Solution

x + p = 0, y + 2 = 03x + 2y + 5 = 0

3. Show that the points

 are

colinear.

Watch Video Solution

A = (1, 2, 3), B = (7, 0, 1), C = ( − 2, 3, 4)

4. Find the direction cosines of the normal to the plane

W t h Vid S l ti

x + 2y + 2z − 4 = 0

https://dl.doubtnut.com/l/_2xstey0ipckK
https://dl.doubtnut.com/l/_5PlSP0XJsjz3
https://dl.doubtnut.com/l/_zY8LV4JHnH8b


Watch Video Solution

5. Compute 

Watch Video Solution

Ltx→ 0 , (a > 0, b > 0, b ≠ 1)
ax − 1

bx − 1

6. Evaluate 

Watch Video Solution

Ltx→ 0
ex − sinx − 1

x

7. If , then find .

Watch Video Solution

y = sin− 1
√x

dy

dx

https://dl.doubtnut.com/l/_zY8LV4JHnH8b
https://dl.doubtnut.com/l/_CTLd8600f6bc
https://dl.doubtnut.com/l/_LgbXk5sAac3O
https://dl.doubtnut.com/l/_cUCfSOCx2fB4
https://dl.doubtnut.com/l/_N5rJggPfZVxL


Section B

8. If  find .

Watch Video Solution

y = sec− 1( )
1

2x2 − 1

dy

dx

9. Find the approximate value of 

Watch Video Solution

√82

10. Let  then prove that

there is more than one 'c' in (1,3) such that 

Watch Video Solution

f(x) = (x − 1)(x − 2)(x − 3)

f' (c) = 0

https://dl.doubtnut.com/l/_N5rJggPfZVxL
https://dl.doubtnut.com/l/_aWocUHDXIVpB
https://dl.doubtnut.com/l/_Pv6Sn5epbxnD


1. Find the equation of locus of P, if the line segment

joining (2,3) & (-1,5) subtends a right angle at P.

Watch Video Solution

2. Prove that the angle of rotation of the axes to

eliminate xy term from the equation

 where 

 and  if .

Watch Video Solution

ax2 + 2hxy + by2 = 0  is tan− 1( )
2h

a − b

a ≠ b
π

4
a = b

https://dl.doubtnut.com/l/_v6t9JslDm8og
https://dl.doubtnut.com/l/_nHrvDlTpL38c


3. Find the point on the straight line 

which is equidistant from the points (-5,6) and (3,2).

Watch Video Solution

3x + y + 4 = 0

4. Is f given by

,

continuous at the point 3.

Watch Video Solution

f(x) = {
 if 0 < x < 5  and x ≠ 3

1.5          if x = 3

x2 − 9

x2 − 2x− 3

5. Find the derivative of  from the first Principle.

Watch Video Solution

cos ax

https://dl.doubtnut.com/l/_VLa6VkPQuYwt
https://dl.doubtnut.com/l/_AyDxUHvDWCU4
https://dl.doubtnut.com/l/_JqXwym8bbNgc


Laqs

6. The volume of a cube is increasing at a rate of 9 cubie

centimeters per second. How fast is the surface area

increasing when the length of edge is 10 cms?

Watch Video Solution

7. Find lengths of normal and subnormal at a point on

the curve 

Watch Video Solution

y = (e + e− )
a

2

x
a

x
a

https://dl.doubtnut.com/l/_JqXwym8bbNgc
https://dl.doubtnut.com/l/_6zbQcOADxqmX
https://dl.doubtnut.com/l/_M0AKdztTrYai
https://dl.doubtnut.com/l/_zZ5fVSyynAoZ


1. If  is the foot of the perpendicular of 

on the line  then prove that 

.

Watch Video Solution

Q(h, k) P (x1, y1)

ax + by + c = 0

(h − x1), a = (k − y1), b = − (ax1 + by1 + c) : (a2 + b2)

2. Find the angle between the lines joining the origin to

the points of intersection of the curve

 and the line 3x-

y+1=0.

Watch Video Solution

x2 + 2xy + y2 + 2x + 2y − 5 = 0

https://dl.doubtnut.com/l/_zZ5fVSyynAoZ
https://dl.doubtnut.com/l/_S1RjUKqfQxaM


3. Find the angle between the lines whose d.c's are

related by 

Watch Video Solution

l + m + n = 0&l2 + m2 − n2 = 0

4. Find the derivative of .

Watch Video Solution

(sinx)logx + xsin x

5. IF the tangent at a point on the curve

 intersects the coordinate axes in A

and B then show that the length AB is a constant.

Watch Video Solution

x2 / 3 + y2 / 3 = a2 / 3

https://dl.doubtnut.com/l/_JAthzky35jX9
https://dl.doubtnut.com/l/_WJs2vwUwTxk2
https://dl.doubtnut.com/l/_YqD4SIlWsY4K


6. Show that when the curved surface of a is right

circular cylinder inscribed in a sphere of radius R is

maximum , then the height of the cylinder is .

Watch Video Solution

√2R

https://dl.doubtnut.com/l/_YqD4SIlWsY4K
https://dl.doubtnut.com/l/_jY9CjE8FkBod

